681 2-

E+n

(N-

x 10"

-N,N-

E+3 x 1000

(kg/ )

(kg/ )

1.0E-1

0.1

0.1

7.9E+0

7.9

7.9

1.9E+2

192.0

6.8E+0

1.5E+3

1,536.8

1,728.8

Olo|N|o|O|R|WIN |-

=
o

44E+2

4415

4415

[y
[N

8.0E+0

1.1E+3

1,128.0

1,128.0

[y
N

[y
w

[y
SN

3.7E+1

3.1E+0

40.1

40.1

[y
(¢, ]

=
(o]

[EN
~

[y
(o]

7.6E+0

1.1E+2

117.6

117.6

[y
©

N
o

N
[y

N
N

2.0E+0

2.0

2.0

N
w

1.0E-1

0.1

3.0E+1

30.0

30.1

N
S

1.0E-1

0.1

0.1

N
(6]

14E+2

8.0E-1

140.8

140.8

N
[o)]

N
-

7.9E+2

6.0E+2

1,390.1

1,390.1

N
(o]

14E+2

140.0

140.0

N
©

w
o

4.3E+0

4.3

43

w
ey

w
N

w
w

4.7E+1

47.0

47.0

w
5

w
(&)

w
(o]

w
by

w
[e¢]

w
({e]

N
o

SN
[

o
N

SN
w

SN
SN

N
ol

N
(o}

SN
~

2.0E+2

196.5

1.0E+3

4.0E+3

5,021.9

5,218.4

[y
o




